4000

(547 |OWER-T9(vA7L547)
4000 . & & | KF—OWEP—-P4—-APMWGT1
3630 [ wimex(18%:Y) | (BEES | KRCHO0134x% 3 )
Q= o 7 [ 5% 1% Bl i % B
| ©) i $216.3x14.5 STK400 6 | BRERD- X I BEHALE
H | @) it H—100% 50% 5% 7 5400 4| mHED®- & +HERREE
® 211 [~100x50x3.2 | SGH400,227 | 8 B0 & + HERRER
® EMRit t4 FRP 4 £EY V- MEEY
® W - - %Ei T—90x 80X 5% 8 SS400 1| pRERD- x 1 HEHREE
- o ® b L75% 40x 3.2 SGH400,227 | 4 B0 & + HERRER
= SIS @) Ty 0125% 125%t4.516 |STKR400,55400] 2 | BRER»- & HEHAEE
N 3 F U] 0125x 125X 14,519 [STKR400,55400] 4 | mHBR»- = (HEHAEE
® - K-t 70x 40 ABAVEBRILTv| 32 |[FLvYyy FE(ET IBERHEE)
BI34v M 0125x 125%t4.59 [STKR400,55400] 1 | BR@ER®»- & HEHAEE
MO ® L LILE; 3 FRP 1 BN I- (LY
~®) ©@ ER2E t4.5 SGH400,227 | 64 TP & + HEHERE
© REAN | 416-50x 30 HEEAL6 |6ty || BREHH-&. AU
-~ BH AL | M16x 40 BEXHA6 |24ty | BRED®- %
[ ¢ §7 ® B0 | M10x 25 HEXH46 |16ty | FRED®- %
B A | M10x 35 HEXH46 |60ty F FRERD® - %
@ B 7o | M16 HEXH46 | 1ty | F40Y 799y
| ¥@ - BEHER | BT AL | M8X 55 HEEALD |32y f FRER- &
AR M1 6/ ARBE 24
®+@>\ @ 795y § 123x50x 3720 | ABAOBEILT(v| B8 | A-A-Aby99y F(RT7EAGHR)
@ Bt A b M6x 50 SUS 48ty b LiEF v &

xFERBHEE 0.3kN/m’. XURSHE2KN/m T7.
xR %y MCEATARR (BABSOWIZL. BT 7A%y /BER20WZN L) #BRAL TL T,

2580
2550

%
E
f

oy 6w = = xBROY A FEHREHE TN/ M UTOBOLO T,
*HROEREIROE. FELRKEES 2EHHV T,

& 2450

O
{o@ O 00
S S 400
1= o~
o (@)
RK w0
i I s e
EOD Q = Fo— Ar—m—
N 3
Y | - L _ 50 || 300]| 50 *©
- ==
— [—[%&0
g O
250 [300] |250 2
800
(@D
(0 @)
I EERD =
i6 ! ol o
@\ e e i e =I5 1o . 1 TZ > o
O+@n| | BT SEIEHINE R JACR® |
o N i ) )
— I T 1T 1T 1d O
$216.3 $216.3

ABREE B BER =T X CEpst X DEsEE R 2R AN



